]

6mm? BLACK PVC/PVC

ROADWAY

FOOTPATH

PLASTIC
GROUNDBGX
WITH ORANGE LID

JUNCTION BOXES SHALL NOT BE FIXED TO
STREET BOX AND SUFFICIENT CABLE SLACK
PROVIDED TO REMOVE BOXES (MIN. 500mm)
OUT OF THE STREET BOX FOR TESTING.

CATHGDIC PROTECTION TEST POINT
STREET BOX AND COVER. SEE SHEET 05.
TO BE INSTALLED ON FOOTPATH

ah

2000 NTS

N/

MINIMUM 0.5 METRES
AND MAX 5 METRES
OR AS PER BESIGN

7

25mm PVC
CONDUIT

x LOmm PVC

CONDUIT

6mm? RED
PVC/PVC

—~—— TYPICALLY BELOW PIPE
INVERT LEVEL

‘k\\\\¥*ANODE

SEE NOTES 1,2 & 3

6mm? PVC/PVC RED ANODES

SEAL CABLE ENTRY WITH

BRICK SUPPORT
IF REQUIRED

NATURAL BACKFILL
ONLY UNDER BOX

M6 x 25 BRASS METAL ———— ||
THREAD SCREW

M6 x 2.5mm CRIMP LUG

ELECTRICAL TAPE.

SACRIFICIAL ANODE CATHODIC

PROTECTION SYSTEM

IN PAVED

SCALE 1:20

AREAS

r M6 BRASS
WASHERS

©

DETAIL
SCALE 12

U

SACRIFICIAL ANODE CONNECTION BOX

\

LOCATE JUNCTION BOXES
OPPOSITE EACH OTHER

M6x25mm BRASS OR S/S BOLT
NUT AND WASHER SET.

M6 BRASS NUTS

emm? PVC/PVC BLACK
STRUCTURE (NEGATIVE)

A = RIGID PVC ABAPTABLE BOX WITH SEALING GASKET (CLIPSAL 265/1)

B = ABDAPTOR (CLIPSAL 263/25)
C = LOCK RING (CLIPSAL 260/25)

NOTES:

NO. SEQUENCE:-
1 TEST POST CONNECTION.

2 STRUCTURE CONNECTION (RIGHT).
3 ANODE CONNECTION (LEFT).

SECTION / A

NOT TO SCALE \\\\_////

JUNCTION BOX. CLIPSAL 240/1

DETAIL  /C
NOT TO SCALE \\\‘4///

TEST PGINT JUNCTION BOX

’///ﬁZOmnnORAPPROVEDEOUNALENT
N|

M6 x 25mm LONG RH BRASS SCREW
WITH HEXAGON BRASS NUTS.

\ CABLE ENTRY TO BE SEALED WITH

ELECTRICAL TAPE.

1. ANODE HOLE BACKFILLED AND COVERED AT PAVED LEVEL WITH MANHGOLE AND RCAD COVER. A 40mm CONDUIT SHALL BE
INSTALLED FROM THE TOP GF THE ANGDE TO THE SURFACE BEFORE BACKFILLING THE ANODE HOLE. BACKFILL SPACE
AROUND THE ANGDE BAG WITH BENTONITE AND REST OF THE HOLE ON TOP OF THE PIPE WITH NATURAL SOIL. THE ANOBE
CABLE SHALL BE RUN TO THIS MANHOLE, LEAVING A LOOP BEFORE BEING RUN TO THE ANOBE CONNECTION BOX (SEE SHEET
13). CABLES BETWEEN BOX AND MANHOLE RUN IN 25mm HEAVY DUTY, RIGID PVC CONDUIT TO AS 2053. BURIED 0.45m DEEP.

2. SUFFICIENT SLACK SHOULD BE LEFT IN THE BURIED CABLES TO PREVENT DAMAGE BURING BACKFILLING.

3. ANODE MATERIAL AS PER SECTION 4.6.3 OF SA WATER TECHNICAL STANDARD TS 0440 AND PROJECT TECHNICAL

SPECIFICATIONS.

k. LEAVE ENOUGH CABLE SLACK INSIDE THE GROUND BOX.

REVISION PANEL

DESIGN PANEL

REV

DATE

DRN

DETAILS

APR |CURRENT REV 03/06/22

AUTHORISED

DESIGNED: 0370672022
R. SALAZAR ROMERQ

KINGSLEY BROWN

SIGNATURE

DRAWN 0370672022
C. DOUGALL

o

1.0

03/06/22

D

ISSUED FOR USE

RSR

. |REVIEWED: 03/06/2022

KINGSLEY BROWN

AUTHORISED:
KINGSLEY BROWN
SIGNATURE

eeeeeeeeee

This drawing is the property of the

@ SCUTH AUSTRALIAN

WATER CORPORATION

and shall nof be copied or modified

CURRENT REV CONTRACTOR

CURRENT REV PROJECT

CONTRACTOR

in part or in whale without authorization

SA WATER STANDAR

CATHODIC PROTECTION

D DRAWING A3

SHT SIZE

TOTAL SHEETS:

1.0

PROJECT No: X00002

REVISION

MAXIMG ID:

SUPERSEDES:

STD-

DRAWING NUMBER

04-00001

15

9



AutoCAD SHX Text
TOTAL SHEETS:

AutoCAD SHX Text
DRAWING NUMBER

AutoCAD SHX Text
A3

AutoCAD SHX Text
PROJECT No:

AutoCAD SHX Text
MAXIMO ID:

AutoCAD SHX Text
and shall not be copied or modified

AutoCAD SHX Text
in part or in whole without authorization.

AutoCAD SHX Text
SOUTH AUSTRALIAN

AutoCAD SHX Text
This drawing is the property of the

AutoCAD SHX Text
C

AutoCAD SHX Text
WATER CORPORATION

AutoCAD SHX Text
REVISION

AutoCAD SHX Text
SHT SIZE

AutoCAD SHX Text
SUPERSEDES:

AutoCAD SHX Text
REV

AutoCAD SHX Text
DATE

AutoCAD SHX Text
DRN

AutoCAD SHX Text
DETAILS

AutoCAD SHX Text
REVISION PANEL

AutoCAD SHX Text
APR

AutoCAD SHX Text
DESIGNED:

AutoCAD SHX Text
DRAWN:

AutoCAD SHX Text
REVIEWED:

AutoCAD SHX Text
AUTHORISED:

AutoCAD SHX Text
SIGNATURE:

AutoCAD SHX Text
AUTHORISED:

AutoCAD SHX Text
SIGNATURE:

AutoCAD SHX Text
CURRENT REV

AutoCAD SHX Text
DESIGN PANEL

AutoCAD SHX Text
CURRENT REV CONTRACTOR:

AutoCAD SHX Text
CONTRACTOR:

AutoCAD SHX Text
Government

AutoCAD SHX Text
of South Australia

AutoCAD SHX Text
CURRENT REV PROJECT:

AutoCAD SHX Text
STD-04-00001_15

AutoCAD SHX Text
SA WATER STANDARD DRAWING

AutoCAD SHX Text
CATHODIC PROTECTION

AutoCAD SHX Text
X00002

AutoCAD SHX Text
R. SALAZAR ROMERO

AutoCAD SHX Text
03/06/2022

AutoCAD SHX Text
C. DOUGALL

AutoCAD SHX Text
03/06/2022

AutoCAD SHX Text
KINGSLEY BROWN

AutoCAD SHX Text
03/06/2022

AutoCAD SHX Text
KINGSLEY BROWN

AutoCAD SHX Text
1.0

AutoCAD SHX Text
KINGSLEY BROWN

AutoCAD SHX Text
03/06/22

AutoCAD SHX Text
1.0

AutoCAD SHX Text
03/06/22

AutoCAD SHX Text
CD

AutoCAD SHX Text
ISSUED FOR USE

AutoCAD SHX Text
RSR

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
1

AutoCAD SHX Text
LOCATE JUNCTION BOXES OPPOSITE EACH OTHER

AutoCAD SHX Text
NO. SEQUENCE:-  1 TEST POST CONNECTION.  2 STRUCTURE CONNECTION (RIGHT).  3 ANODE CONNECTION (LEFT).

AutoCAD SHX Text
NOT TO SCALE

AutoCAD SHX Text
SECTION

AutoCAD SHX Text
A

AutoCAD SHX Text
TEST POINT JUNCTION BOX

AutoCAD SHX Text
JUNCTION BOX. CLIPSAL 240/1  20mm OR APPROVED EQUIVALENT.

AutoCAD SHX Text
M6 x 25mm LONG RH BRASS SCREW WITH HEXAGON BRASS NUTS.

AutoCAD SHX Text
NOTES: 1. ANODE HOLE BACKFILLED AND COVERED AT PAVED LEVEL WITH MANHOLE AND ROAD COVER. A 40mm CONDUIT SHALL BE ANODE HOLE BACKFILLED AND COVERED AT PAVED LEVEL WITH MANHOLE AND ROAD COVER. A 40mm CONDUIT SHALL BE INSTALLED FROM THE TOP OF THE ANODE TO THE SURFACE BEFORE BACKFILLING THE ANODE HOLE. BACKFILL SPACE AROUND THE ANODE BAG WITH BENTONITE AND REST OF THE HOLE ON TOP OF THE PIPE WITH NATURAL SOIL. THE ANODE CABLE SHALL BE RUN TO THIS MANHOLE, LEAVING A LOOP BEFORE BEING RUN TO THE ANODE CONNECTION BOX (SEE SHEET 13). CABLES BETWEEN BOX AND MANHOLE RUN IN 25mm HEAVY DUTY, RIGID PVC CONDUIT TO AS 2053. BURIED 0.45m DEEP. 2. SUFFICIENT SLACK SHOULD BE LEFT IN THE BURIED CABLES TO PREVENT DAMAGE DURING BACKFILLING. SUFFICIENT SLACK SHOULD BE LEFT IN THE BURIED CABLES TO PREVENT DAMAGE DURING BACKFILLING. 3. ANODE MATERIAL AS PER SECTION 4.6.3 OF SA WATER TECHNICAL STANDARD TS 0440 AND PROJECT TECHNICAL ANODE MATERIAL AS PER SECTION 4.6.3 OF SA WATER TECHNICAL STANDARD TS 0440 AND PROJECT TECHNICAL SPECIFICATIONS. 4. LEAVE ENOUGH CABLE SLACK INSIDE THE GROUND BOX.LEAVE ENOUGH CABLE SLACK INSIDE THE GROUND BOX.

AutoCAD SHX Text
NOT TO SCALE

AutoCAD SHX Text
DETAIL

AutoCAD SHX Text
C

AutoCAD SHX Text
M6 BRASS NUTS

AutoCAD SHX Text
M6 x 25 BRASS METAL THREAD SCREW

AutoCAD SHX Text
M6 x 2.5mm CRIMP LUG

AutoCAD SHX Text
6mm  PVC/PVC BLACK 2 PVC/PVC BLACK STRUCTURE (NEGATIVE)

AutoCAD SHX Text
6mm  PVC/PVC RED ANODES2 PVC/PVC RED ANODES

AutoCAD SHX Text
SACRIFICIAL ANODE CONNECTION BOX

AutoCAD SHX Text
SCALE 1:2

AutoCAD SHX Text
DETAIL

AutoCAD SHX Text
B

AutoCAD SHX Text
M6 BRASS WASHERS

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
C

AutoCAD SHX Text
A = RIGID PVC ADAPTABLE BOX WITH SEALING GASKET (CLIPSAL 265/1) B = ADAPTOR (CLIPSAL 263/25) C = LOCK RING (CLIPSAL 260/25)

AutoCAD SHX Text
BRICK SUPPORT IF REQUIRED

AutoCAD SHX Text
NATURAL BACKFILL ONLY UNDER BOX

AutoCAD SHX Text
ANODE SEE NOTES 1, 2 & 3

AutoCAD SHX Text
CATHODIC PROTECTION TEST POINT STREET BOX AND COVER. SEE SHEET 05. TO BE INSTALLED ON FOOTPATH

AutoCAD SHX Text
JUNCTION BOXES SHALL NOT BE FIXED TO STREET BOX AND SUFFICIENT CABLE SLACK PROVIDED TO REMOVE BOXES (MIN. 500mm) OUT OF THE STREET BOX FOR TESTING.

AutoCAD SHX Text
PLASTIC GROUNDBOX WITH ORANGE LID

AutoCAD SHX Text
SACRIFICIAL ANODE CATHODIC PROTECTION SYSTEM IN PAVED AREAS

AutoCAD SHX Text
 - 

AutoCAD SHX Text
A

AutoCAD SHX Text
M6x25mm BRASS OR S/S BOLT NUT AND WASHER SET.

AutoCAD SHX Text
SCALE 1:20

AutoCAD SHX Text
6mm² BLACK PVC/PVC

AutoCAD SHX Text
25mm PVC CONDUIT

AutoCAD SHX Text
CABLE ENTRY TO BE SEALED WITH ELECTRICAL TAPE.

AutoCAD SHX Text
SEAL CABLE ENTRY WITH ELECTRICAL TAPE.

AutoCAD SHX Text
MINIMUM 0.5 METRES AND MAX 5 METRES OR AS PER DESIGN

AutoCAD SHX Text
FOOTPATH

AutoCAD SHX Text
ROADWAY

AutoCAD SHX Text
TYPICALLY BELOW PIPE INVERT LEVEL

AutoCAD SHX Text
40mm PVC CONDUIT

AutoCAD SHX Text
6mm² RED  PVC/PVC




